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Ao | xk | wB | kE | mE | on |70V me |RRR el BT
°c °C 3 mg/L mg/L mg/L mg/L mg/L mg/L
1 5] 222 16.2 0.1 74
2 = 15.1 16.0 0.1 74
3 i 19.4 15.9 0.1 74
4 5 215 16.0 0.0 74
5 i 21.4 16.1 0.0 74
6 % 20.9 16.0 0.0 74
7 5] 19.6 16.1 05 7.3
8 i 22.3 16.2 0.1 7.3 50.1 489 134 58 <0.03|  <0.02
9 % 14.1 15.8 0.1 7.3
10 i 187 16.1 0.0 7.3
1 i 20.2 16.0 0.0 7.2
12 = 21.4 16.4 0.0 7.2
13 5] 20.5 16.7 05 7.2
14 i 195 16.4 0.1 7.3
15 i 225 16.2 0.1 7.3
16 = 20.2 16.3 0.0 7.2
17 i 21.0 16.3 0.1 7.3
18 i 224 15.9 0.0 7.3
19 = 187 15.9 0.0 7.2
20 i 175 15.3 0.2 7.3
21 = 23.1 16.3 0.1 7.3 497 50.8 142 6.1 <0.03|  <0.02
22 LR 21.3 16.1 0.1 7.3
23 = 20.2 16.0 0.1 74
24 i 23.6 16.5 0.0 75
25 = 234 16.1 0.0 74
26 i 22.6 16.0 0.0 74
27 5] 22.1 16.0 0.4 7.3
28 5] 22.7 16.6 0.3 7.3
29 = 21.9 16.2 0.1 7.3
30 i 25.7 16.4 0.0 7.3
31 5] 195 16.1 0.2 7.3
E iy 20.8 16.1 0.1 7.3 49.9 499 138 60| <003 <0.02
= 25.7 16.7 05 75 50.1 50.8 142 6.1 <003 <0.02
& & 14.1 15.3 0.0 7.2 49.7 489 134 58/ <003 <0.02




